g – PENDULUM 
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AIM:

The aim of this experiment is to determine the value of the acceleration due to gravity (g) using a simple pendulum.

YOU WILL NEED:

A retort stand, boss, clamp and thread clamp. Thread. A pendulum bob. Scissors. A stopwatch.


WHAT TO DO:

Set up the pendulum as shown in the diagram with the length of the pendulum about 1.20m.

Displace the bob through a small angle and measure the time for ten complete oscillations (10T).

Repeat the process for about ten lengths (L) between 1.2m and 0.2 m. 

CALCULATIONS:

Calculate the time for one oscillation (T) and hence determine T2.

Remember that one complete oscillation is the time taken for the bob to return to the original position, moving in the same direction.


ANALYSIS AND CONCLUSIONS:

Plot a graph of L against T2 and hence determine g using the graph and the formula 

T2 =4(2L/g

g=The slope of the graph x 4(2
L








